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1 |98 8 3 0 20 43%
2 |=EN==E 8 2 2 15 3.2%
3 |SHRE 4 3 2 14 3.0%
4 |Z=ARQIALE 2 1 1 14 3.0%
5 |gste 4 4 2 20 43%
6 |dtstAaldE 8 4 1 35 7.5%
7 |2ELEHE 6 2 1 21 45%
8 |Hfo|E22lE 5 6 2 21 45%
9 |(27I2|LtE 3 1 2 7 1.5%
10 ([O)=8 6 5 2 26 5.6%
11 [2eo] =302 4 1 1 18 3.9%
12 (Z2/az2tmé& pops 4 4 3 23 5.0%
13 (=38 7 4 8 40 8.6%
14 |ErStHAE 4 6 3 36 7.8%
15 [HIEE 2 2 1 20 43%
16 |05 6 10 3 4 34 7.3%
17 |AEHE 10 9 13 18 60 12.9%
18 |El1&2 2 5 0 0 5 12 2.6%
19 =32 2 2 3 0 0 7 1.5%
20 [HHEOQIHE 1 0 0 1 1 3 0.6%
21 [staE 1 0 0 0 0 1 0.2%
22 |EOIEX 1 0 0 0 0 1 0.2%
23 |=EMEEE 1 0 0 0 0 1 0.2%
24 (HHEH 1 0 1 0 1 3 0.6%
25 |of &5 1 0 1 1 0 3 0.6%
26 [2az4d7|E 1 0 0 0 0 1 0.2%
27 [EEAQYE 1 1 0 0 0 2 0.4%
28 [REHE 1 0 0 0 0 1 0.2%
29 |7|EtE 0 0 0 1 0 1 0.2%
30 |2y 0 0 0 1 0 1 0.2%
31 |0/ {™HE 0 0 0 1 0 1 0.2%
32 |Ab=Xtatst 0 0 0 0 1 1 0.2%
33 |[=Zat= 0 0 0 0 1 1 0.2%
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